

MINIMAL PROJECTIONS ONTO SPACES OF SYMMETRIC MATRICES

BY DOMINIK MIELCZAREK

Abstract. Let X_n denote the space of all $n \times n$ matrices and $Y_n \subset X_n$ its subspace consisting of all $n \times n$ symmetric matrices. In this paper we will prove that a projection $P_a: X_n \rightarrow Y_n$ given by the formula $P_a(A) = \frac{A+A^T}{2}$ is a minimal projection, if the norm of matrix A is an operator norm generated by symmetric norm in the space \mathbb{R}^n . We will show that the assumption about the symmetry of the norm is essential. We will also prove that this projection is the only minimal projection if our operator norm is determined by the l_2 norm in the space \mathbb{R}^n .

1. Introduction. Let X be normed space over the field of real numbers and let Y be a linear subspace of X . A bounded linear operator $P: X \rightarrow Y$ is called a projection if $P|_Y = Id$. The set of all projections from X onto Y will be denoted by $P(X, Y)$. A projection P_0 is called minimal if

$$\|P_0\| = \inf\{\|P\| : P \in P(X, Y)\}.$$

Analogously, P_0 is said to be co-minimal if

$$\|Id - P_0\| = \inf\{\|Id - P\| : P \in P(X, Y)\}.$$

The constant

$$\Lambda(X, Y) = \inf\{\|P\| : P \in P(X, Y)\}$$

is called the relative projection constant.

The problem of finding formulas for minimal projections is related to the Hahn–Banach Theorem, as well as to the problem of producing a “good” linear replacement of an $x \in X$ by a certain element from Y , because of the inequality

$$\|x - P(x)\| \leq (1 + \|P\|)\text{dist}(x, Y),$$

where $P \in P(X, Y)$.

Since P is the only projection which commutes with G , by Theorem 1.2

$$P = \int_G g^{-1} Q g d g,$$

where $d g$ is the probabilistic Haar measure on G . Making use of the properties of Bochner's integral, we obtain the following estimate

$$\begin{aligned} (1) \quad \|P\| &= \left\| \int_G g^{-1} Q g d g \right\| \leq \int_G \|g^{-1}\| \|Q\| \|g\| d g \\ (2) \quad &= \int_G d g \|Q\| = \|Q\|. \end{aligned}$$

Therefore, P is minimal. Now we shall show that P is also co-minimal. Let $Q \in P(X, Y)$. Then the following inequalities hold:

$$\begin{aligned} \|Id - P\| &= \left\| Id - \int_G g^{-1} Q g d g \right\| \\ &= \left\| \int_G g^{-1} (Id - Q) g d g \right\| \leq \|Id - Q\|, \end{aligned}$$

and thus the projection P is also co-minimal. \square

2. Minimality of averaging projection. Let us denote

$$X_n = L(\mathbb{R}^n).$$

Then the space X_n , after fixing a base in \mathbb{R}^n , can be treated as the set of all real square matrices of dimension n . Set

$$Y_n = \left\{ A \in X_n : A = A^T \right\}.$$

DEFINITION 2.1. A projection $P_a: X_n \rightarrow Y_n$ given by

$$P_a(A) = \frac{A + A^T}{2},$$

for $A \in X_n$ is called the averaging projection.

DEFINITION 2.2. We will state that the norm $\|\cdot\|$ in the space \mathbb{R}^n is symmetric if there exists a base $\{v_1, \dots, v_n\}$ of \mathbb{R}^n such that

$$\left\| \sum_{i=1}^n a_i v_i \right\| = \left\| \sum_{i=1}^n \varepsilon_i a_{\sigma(i)} v_i \right\|,$$

for any $a_i \in \mathbb{R}$, any permutation σ of the set $\{1, \dots, n\}$ and $\varepsilon_i \in \{-1, 1\}$.

Now we show that if the operator norm of $A \in X_n$ is generated by symmetric norm in \mathbb{R}^n , that is

$$\|A\| = \sup_{\|x\|_0=1} \|Ax\|_0,$$

where $\|\cdot\|_0$ is a symmetric norm in the space \mathbb{R}^n , then projection P_a is minimal. Let us define

$$\begin{aligned} N &= \{1, \dots, n\} \times \{1, \dots, n\}, \\ L &= \{(i, i) \in N : i \in \{1, \dots, n\}\}, \\ S &= N \setminus L \quad \text{and} \\ M &= \{(i, j) \in N : i < j\}. \end{aligned}$$

For $l, p, k \in N$

$$\begin{aligned} \delta_l(p) &:= \begin{cases} 1 & \text{if } p = l, \\ 0 & \text{if } p \neq l, \end{cases} \\ \delta_{lk}(p) &:= \delta_l(p) + \delta_k(p). \end{aligned}$$

Then $\text{codim } Y = \#M$ and

$$Y_n = \bigcap_{z \in M} \ker(f_z),$$

where for $z = (i, j) \in M$, $A = (a_{ij})_{(i,j) \in N} \in X_n$, $f_{ij}(A) = a_{ij} - a_{ji}$. By Theorem 1.1, there exists a sequence of matrices $\{B_z\}_{z \in M} \subset X_n$, such that

$$\begin{aligned} f_w(B_z) &= \delta_{wz}, \quad \text{and} \\ P_a(\cdot) &= Id(\cdot) - \sum_{z \in M} f_z(\cdot) B_z. \end{aligned}$$

LEMMA 2.1. *Let*

$$P_a(\cdot) = Id(\cdot) - \sum_{z \in M} f_z(\cdot) B_z.$$

Then, for each $z = (i, j) \in M$ the matrix $B_z = (b_{lk}^z)_{(l,k) \in N}$ has the form

$$b_{lk}^z = \begin{cases} \frac{1}{2} & \text{if } (l, k) = (i, j), \\ -\frac{1}{2} & \text{if } (l, k) = (j, i), \\ 0 & \text{if } (l, k) \neq (i, j). \end{cases}$$

PROOF. Let $z = (i, j) \in M$. Since for any $A \in X_n$ $P_a(A) = P_a(A^T)$,

$$0 = P_a(B_z) = P_a(B_z^T) = B_z^T + B_z.$$

Therefore, $B_z = -B_z^T$. Hence

$$b_{lk}^z + b_{kl}^z = 0,$$

for each $(l, k) \in N$.

Since $f_w(B_z) = \delta_{wz}$, for $w, z \in M$,

$$b_{lk}^z = \begin{cases} \frac{1}{2} & \text{if } (l, k) = (i, j), \\ -\frac{1}{2} & \text{if } (l, k) = (j, i), \\ 0 & \text{if } (l, k) \neq (i, j), \end{cases}$$

which completes the proof. \square

Now, for any $z = (i, j) \in S$, define

$$I_{ij}(\varepsilon_1, \varepsilon_2) = \sum_{l \in \{1, \dots, n\} \setminus \{i, j\}} \delta_{ll} + \varepsilon_1 \delta_{(i, j)} + \varepsilon_2 \delta_{(j, i)},$$

$\varepsilon_1, \varepsilon_2 \in \{-1, 1\}$.

For any $(i, j) \in S$, set

$$\begin{aligned} I_{ij} &= I_{ij}(1, 1), \\ I_{ij}^- &= I_{ij}(-1, 1). \end{aligned}$$

It is easy to see that for any $(i, j) \in S$, $\varepsilon_1, \varepsilon_2 \in \{-1, 1\}$

$$(3) \quad I_{ij}(\varepsilon_1, \varepsilon_2) = I_{ji}(\varepsilon_2, \varepsilon_1),$$

$$(4) \quad I_{ij}(1, 1) = I_{ij}(1, 1)^T,$$

$$(5) \quad I_{ij}(-1, -1) = I_{ij}(-1, -1)^T,$$

$$(6) \quad I_{ji}(-1, 1) = I_{ij}(-1, 1)^T \quad \text{and}$$

$$(7) \quad I_{ij}(\varepsilon_1, \varepsilon_2) I_{ij}(\varepsilon_1, \varepsilon_2)^T = I_{ij}(\varepsilon_1, \varepsilon_2)^T I_{ij}(\varepsilon_1, \varepsilon_2) = Id.$$

It is also easy to verify that if a norm in the space \mathbb{R}^n is symmetric, then every map $I_{ij}(\varepsilon_1, \varepsilon_2)$ is an isometry in \mathbb{R}^n .

Let G be the group generated by the matrices of this form. Each element I of G induces a linear isomorphism Ψ_I in the space X_n , given by the formula

$$\Psi_I(A) = I^T A I,$$

for $A \in X_n$.

If the norm in X_n is generated by a symmetric norm in \mathbb{R}^n , then it is easy to verify that for any $I \in G$ Ψ_I is an isometry in X_n . It is obvious that Y_n is invariant under Ψ_I , $I \in G$. By Theorem 1.2, there exists a projection Q which commutes with our group G . In order to show that the projection P_a is minimal it is enough to show that P_a is the only projection commuting with the group G . For the purpose of simplification, let $\Phi_{ij} = \Psi_{I_{ij}}$ and $\Phi_{ij}^- = \Psi_{I_{ij}^-}$. We are ready to state the main result of this paper

THEOREM 2.1. *If an operator norm in X_n is generated by a symmetric norm in \mathbb{R}^n , then the averaging projection P_a is minimal.*

PROOF. We will show that P_a is the only projection which commutes with G . By Theorem 1.2, it follows that there exists a projection $Q: X_n \rightarrow Y_n$ commuting with G . It is sufficient to show that $Q = P_a$. By Theorem 1.1,

$$Q(\cdot) = Id(\cdot) - \sum_{z \in M} f_z(\cdot)B_z,$$

where $f_w(B_z) = \delta_{wz}$, for $w, z \in M$.

In order to show $Q = P_a$ it is sufficient to prove that, for every $z = (i, j) \in M$, $B_z = (b_{lk}^z)_{(l, k) \in N}$ has the form

$$b_{lk}^z = \begin{cases} \frac{1}{2} & \text{if } (l, k) = (i, j), \\ -\frac{1}{2} & \text{if } (l, k) = (j, i), \\ 0 & \text{if } (l, k) \neq (i, j). \end{cases}$$

Since the projection Q commutes with G , for any $(i, j) \in M$ there is:

$$(8) \quad Q\Phi_{ij} = \Phi_{ij}Q,$$

$$(9) \quad Q\Phi_{ij}^- = \Phi_{ij}^-Q.$$

By definition of Φ_{ij} , it follows that

$$(10) \quad \Phi_{ij}\delta_{(i, j)} = \delta_{(j, i)},$$

$$(11) \quad \Phi_{ij}^-\delta_{(i, j)} = -\delta_{(j, i)},$$

for each $(i, j) \in M$. Hence we obtain

$$(12) \quad Q\Phi_{ij}\delta_{(i, j)} = \Phi_{ij}Q\delta_{(i, j)}, \text{ and}$$

$$(13) \quad Q\delta_{(j, i)} = \Phi_{ij}\left(Id(\delta_{(i, j)}) - \sum_{z \in M} f_z(\delta_{(i, j)})B_z\right).$$

Hence after simple re-formations

$$(14) \quad \delta_{(j, i)} + B_{(i, j)} = \delta_{(j, i)} - \Phi_{ij}(B_{(i, j)}),$$

and therefore,

$$(15) \quad B_{(i, j)} = -\Phi_{ij}(B_{(i, j)}).$$

Since each Φ_{ij} exchanges the i -th row with j -th row, and the i -th column with j -th column for any $A \in X_n$, by (15) we obtain:

$$(16) \quad b_{lk} = 0,$$

$$(17) \quad b_{ik} + b_{jk} = 0,$$

$$(18) \quad b_{ki} + b_{kj} = 0,$$

$$(19) \quad b_{ii} + b_{jj} = 0,$$

$$(20) \quad b_{ij} + b_{ji} = 0,$$

for $k, l \in \{1, \dots, n\} \setminus \{i, j\}$.

Since $f_{(i,j)}(B_{(i,j)}) = 1$, by (20)

$$\begin{aligned} b_{ij} - b_{ji} &= 1, \\ b_{ij} + b_{ji} &= 0. \end{aligned}$$

Therefore, $b_{ij} = \frac{1}{2}$, $b_{ji} = -\frac{1}{2}$.

Making use of equation (9), we get

$$(21) \quad Q\Phi_{ij}^-\delta_{(i,j)} = \Phi_{ij}^-Q\delta_{(i,j)}.$$

By (21), there is

$$(22) \quad -Q\delta_{(j,i)} = \Phi_{ij}^-\left(\text{Id}(\delta_{(i,j)}) - \sum_{z \in M} f_z(\delta_{(i,j)})B_z\right).$$

Hence

$$(23) \quad B_{(i,j)} = \Phi_{ij}^-(B_{(i,j)}).$$

Because the map Φ_{ij}^- exchanges, in any matrix from X_n , i -th row with j -th row, and the i -th column with the j -th column, as well as multiplies i -th row and the i -th column by -1 , then

$$\begin{aligned} b_{ik} - b_{jk} &= 0, \\ b_{ki} - b_{kj} &= 0, \\ b_{ii} - b_{jj} &= 0, \end{aligned}$$

for $k \in \{1, \dots, n\} \setminus \{i, j\}$.

From equations (16), (17), (18), (19), we obtain that $B_{(i,j)}$ has the form

$$b_{lk} = \begin{cases} \frac{1}{2} & \text{if } (l, k) = (i, j), \\ -\frac{1}{2} & \text{if } (l, k) = (j, i), \\ 0 & \text{if } (l, k) \neq (i, j). \end{cases}$$

Hence $Q = P_a$, as required. \square

Now we show that the assumption about the symmetry of the norm in Theorem 2.1 is essential. For $x = (x_1, \dots, x_n) \in \mathbb{R}^n$ define

$$\|x\|_{bv} = |x_1| + \sum_{i=2}^n |x_i - x_{i-1}|,$$

and for $A \in X_n$ set

$$\|A\|_{bv} = \sup_{\|x\|_{bv}=1} \|Ax\|_{bv}.$$

In the sequel we need

THEOREM 2.2. (see, e.g., [14]). *Let X be the normed space, Y be the closed subspace of finite codimension n . Then*

$$\Lambda(X, Y) \leq \sqrt{n} + 1.$$

THEOREM 2.3. *In the normed space $(X, \|\cdot\|_{bv})$, the averaging projection is not a minimal projection.*

Proof.

Since $\text{codim } Y_n = \frac{n(n-1)}{2}$, by Theorem 2.2,

$$\Lambda(X_n, Y_n) \leq \sqrt{\frac{n(n-1)}{2}} + 1.$$

Hence we need to show that

$$\sqrt{\frac{n(n-1)}{2}} + 1 < \|P_a\|_{bv}.$$

Let

$$A = \sum_{i=1}^n \delta_{(i, 1)}.$$

A simple calculation shows that $\|A\|_{bv} = 1$ and $\|P_a(A)\|_{bv} \geq \frac{2n+1}{2}$. Hence

$$\|P_a\|_{bv} \geq \frac{2n+1}{2}.$$

Obviously, for any natural number n ,

$$\sqrt{\frac{n(n-1)}{2}} + 1 < \frac{2n+1}{2}.$$

Consequently P_a is not minimal.

Let

$$\|A\|_1 = \sup_{\|x\|_1=1} \|Ax\|_1,$$

where $\|x\|_1 = \sum_{i=1}^n |x_i|$ $x = (x_1, \dots, x_n) \in \mathbb{R}^n$.

THEOREM 2.4. *In the space $(X_n, \|\cdot\|_1)$ the relative projection constant is equal to $\frac{n+1}{2}$.*

PROOF. By Theorem 2.1,

$$\Lambda(X_n, Y_n) = \|P_a\|_1,$$

where P_a is the averaging projection.

To conclude this proof, it is enough to show that

$$\|P_a\|_1 = \frac{n+1}{2}.$$

Note that for $A = (a_{ij})_{(i,j) \in N} \in X_n$,

$$\|A\|_1 = \max_{j=1, \dots, n} \left\{ \sum_{i=1}^n |a_{ij}| \right\},$$

and $\left\| \frac{A+A^T}{2} \right\| \leq \frac{n+1}{2}$. But for any $i \in \{1, \dots, n\}$ and

$$A = \sum_{j=1}^n \delta_{(i,j)},$$

$\left\| \frac{A+A^T}{2} \right\| = \frac{n+1}{2}$. This concludes the proof of Theorem 2.2. \square

Let for any $A \in X_n$

$$\|A\|_\infty = \sup_{\|x\|_\infty=1} \|Ax\|_\infty,$$

where $\|x\|_\infty = \max_{i \in \{1, \dots, n\}} |x_i|$, for $x = (x_1, \dots, x_n) \in \mathbb{R}^n$.

THEOREM 2.5. *In the space $(X_n, \|\cdot\|_\infty)$ the relative projection constant is equal to $\frac{n+1}{2}$.*

PROOF. By Theorem 2.1,

$$\Lambda(X_n, Y_n) = \|P_a\|_\infty,$$

Note that for any $A = (a_{ij})_{(i,j) \in N} \in X_n$,

$$\|A\|_\infty = \max_{i=1, \dots, n} \left\{ \sum_{j=1}^n |a_{ij}| \right\},$$

and $\left\| \frac{A+A^T}{2} \right\| \leq \frac{n+1}{2}$. Let for $j \in \{1, \dots, n\}$

$$A = \sum_{i=1}^n \delta_{(i,j)},$$

then $\|A\|_\infty = 1$ and $\left\| \frac{A+A^T}{2} \right\| = \frac{n+1}{2}$. This concludes the proof of Theorem 2.3. \square

3. The unique minimality of averaging projection in the space $(X_n, \|\cdot\|_2)$. For $A \in X_n$ let

$$\|A\|_2 = \sup_{\|x\|_2=1} \|Ax\|_2,$$

where $\|x\|_2 = \left(\sum_{i=1}^n |x_i|^2\right)^{\frac{1}{2}}$, for $x = (x_1, \dots, x_n) \in \mathbb{R}^n$. It is well-known that for $A \in X_n$

$$\|A\|_2 = \sqrt{r(A^T A)},$$

where $r(A)$ is the spectral radius of A . In particular

$$\|A^T\|_2 = \|A\|_2.$$

Hence $\|P_a\|_2 = 1$.

In this section we will show that P_a is the unique norm-one projection.

Define

$$A_{ij}(\theta) := \sum_{z \in L \setminus \{(i, i), (j, j)\}} \delta_z + \sin(\theta)(\delta_{(i, i)} + \delta_{(j, j)}) + \cos(\theta)(\delta_{(i, j)} - \delta_{(j, i)}),$$

for fixed $(i, j) \in M$, $\theta \in \mathbb{R}$.

It is easy to show that $A_{ij}(\theta)$ is orthogonal, that is

$$A_{ij}(\theta)^T A_{ij}(\theta) = A_{ij}(\theta) A_{ij}(\theta)^T = Id.$$

Hence $\|A_{ij}(\theta)\|_2 = 1$, for each $(i, j) \in M$, $\theta \in \mathbb{R}$.

THEOREM 3.1. *In the normed space $(X_n, \|\cdot\|_2)$, P_a is the unique norm-one projection.*

PROOF. We will show that $Q \in P(X_n, Y_n)$ is a norm-one projection, then $Q = P_a$. Applying Theorem 1.1, we obtain:

$$Q(\cdot) = Id(\cdot) - \sum_{z \in M} f_z(\cdot) B_z,$$

where $f_w(B_z) = \delta_{wz}$, for $w, z \in M$.

In order to complete the proof of Theorem 3.1, by Lemma 2.1, it is sufficient to show that any matrix $B_z = (b_{lk}^z)_{(l, k) \in N}$ is given by

$$b_{lk}^z = \begin{cases} \frac{1}{2} & \text{if } (l, k) = (i, j), \\ -\frac{1}{2} & \text{if } (l, k) = (j, i), \\ 0 & \text{if } (l, k) \neq (i, j). \end{cases}$$

Let $(i, j) \in M$. For any $\theta \in \mathbb{R}$

$$(24) \quad Q(A_{ij}(\theta)) = Id(A_{ij}(\theta)) - \sum_{z \in M} f_z(A_{ij}(\theta))B_z =$$

$$(25) \quad = A_{ij}(\theta) - 2 \cos(\theta)B_{(i, j)}.$$

Since $\|Q\|_2 = 1$,

$$(26) \quad \|A_{ij}(\theta) - 2 \cos(\theta)B_{(i, j)}\|_2 \leq 1,$$

for every $\theta \in \mathbb{R}$.

Fix $z = (l, l) \in L \setminus \{(i, i), (j, j)\}$. We will show that $b_{ll}^z = 0$.

By (26), we obtain

$$(27) \quad \|(A_{ij}(\theta) - 2 \cos(\theta)B_{(i, j)})e_l\|_2 \leq 1,$$

for any $\theta \in \mathbb{R}$. It implies that

$$(28) \quad |1 - 2 \cos(\theta)b_{ll}^z| \leq 1,$$

for any $\theta \in \mathbb{R}$. Consequently, $b_{ll}^z = 0$ and

$$(29) \quad b_{lk}^z = 0,$$

$$(30) \quad b_{kl}^z = 0,$$

for any $k \in \{1, \dots, n\}$.

Now we will show that $b_{ii}^z = b_{jj}^z = 0$.

By (26),

$$\|(A_{ij}(\theta) - 2 \cos(\theta)B_{(i, j)}) \sin(\theta)e_i\|_2 \leq 1,$$

and consequently,

$$(31) \quad -1 \leq \sin^2 \theta - 2 \sin \theta \cos \theta b_{ii}^z \leq 1,$$

for any $\theta \in \mathbb{R}$.

From (31) one can easily get

$$(32) \quad \frac{\sin^2 \theta - 1}{\sin 2\theta} \leq b_{ii}^z \leq \frac{\sin^2 \theta + 1}{\sin 2\theta} \quad \text{dla } \theta \in \left(0, \frac{\pi}{2}\right) \quad \text{and}$$

$$(33) \quad \frac{\sin^2 \theta + 1}{\sin 2\theta} \leq b_{ii}^z \leq \frac{\sin^2 \theta - 1}{\sin 2\theta} \quad \text{dla } \theta \in \left(-\frac{\pi}{2}, 0\right).$$

Hence

$$(34) \quad \lim_{\theta \rightarrow \frac{\pi}{2}^-} \frac{\sin^2 \theta - 1}{\sin 2\theta} \leq b_{ii}^z \quad \text{and}$$

$$(35) \quad b_{ii}^z \leq \lim_{\theta \rightarrow -\frac{\pi}{2}^+} \frac{\sin^2 \theta - 1}{\sin 2\theta},$$

therefore, $b_{ii}^z = 0$. Analogously we obtain $b_{jj}^z = 0$.

To end the proof, it is necessary to show that $b_{ij}^z = \frac{1}{2}$, $b_{ji}^z = -\frac{1}{2}$. Set $a := 1 - 2b_{ij}^z$. It is easy to check that the characteristic polynomial φ of the matrix $A_{ij}(\theta) - 2\cos(\theta)B_{(i,j)}$ is

$$\varphi(\lambda) = (\lambda - 1)^{n-2}((\lambda - \sin\theta)^2 - \cos^2\theta a^2).$$

Since $A_{ij}(\theta) - 2\cos(\theta)B_{(i,j)}$ is symmetric,

$$\|A_{ij}(\theta) - 2\cos(\theta)B_{(i,j)}\|_2 = r(A_{ij}(\theta) - 2\cos(\theta)B_{(i,j)}).$$

Straightforward calculations show that the zeros of polynomial φ are 1 , $\sin\theta - |\cos\theta||a|$ and $\sin\theta + |\cos\theta||a|$.

Since $\|A_{ij}(\theta)\| \leq 1$, for each $\theta \in \mathbb{R}$ there is

$$(36) \quad \sin\theta + |\cos\theta||a| \leq 1.$$

Hence

$$|a| \leq \frac{1 - \sin\theta}{\cos\theta},$$

for $\theta \in \left[0, \frac{\pi}{2}\right)$, which gives

$$0 \leq |a| \leq \lim_{\theta \rightarrow \frac{\pi}{2}^-} \frac{1 - \sin\theta}{\cos\theta} = 0.$$

Consequently, $b_{ij}^z = \frac{1}{2}$. The proof is complete. \square

4. The unique minimality of averaging projection in l_p -norm. For any $1 \leq p < \infty$, $A = (a_{ij})_{(i,j) \in N} \in X_n$ define

$$\|A\|_p = \left(\sum_{i=1}^n \sum_{j=1}^n |a_{ij}|^p \right)^{\frac{1}{p}},$$

and

$$\|A\|_\infty = \max_{(i,j) \in N} |a_{ij}|.$$

It is easy to see that

$$\|P_a\|_p = \sup \left\{ \|P_a(A)\|_p : \|A\|_p = 1, \right\} = 1$$

for any $1 \leq p \leq \infty$.

Hence P_a is a minimal projection. We will show that P_a is the only minimal projection if and only if $1 \leq p < \infty$. To do this, recall that a normed space $(X, \|\cdot\|)$ is called smooth if for any $x \in X$, $\|x\| = 1$ there exists exactly one functional f_x , $\|f_x\| = 1$ such that $f_x(x) = 1$.

THEOREM 4.1. (see, e.g., [7]). *Let X be a smooth Banach space and Y be linear subspace of X . Then if there exists a norm-one projection from X onto Y , then this projection is the unique minimal projection.*

Since for $1 < p < \infty$, space $(X_n, \|\cdot\|_p)$ is a smooth Banach space and $\|P_a\| = 1$, then P_a is the only norm-one projection. Now we consider the two remaining cases, $p = 1$ and $p = \infty$.

THEOREM 4.2. *In the space $(X_n, \|\cdot\|_1)$, P_a is the unique norm-one projection.*

PROOF. Let $Q: X_n \rightarrow Y_n$ be a projection and $\|Q\|_1 = 1$. We will show that $Q = P_a$. By Theorem 1.1,

$$Q(\cdot) = Id(\cdot) - \sum_{z \in M} f_z(\cdot) B_z,$$

where $f_w(B_z) = \delta_{wz}$, for $w, z \in M$.

Since $\|Q\|_1 = 1$, then

$$(37) \quad \|Q(\delta_{(i,j)})\|_1 \leq 1,$$

$$(38) \quad \|Q(\delta_{(j,i)})\|_1 \leq 1,$$

for fixed $(i, j) \in M$. This leads to

$$(39) \quad \sum_{(l,k) \in N \setminus \{(i,j), (j,i)\}} |b_{lk}^z| + |1 - b_{ij}^z| + |b_{ji}^z| \leq 1, \text{ and}$$

$$(40) \quad \sum_{(l,k) \in N \setminus \{(i,j), (j,i)\}} |b_{lk}^z| + |b_{ij}^z| + |1 + b_{ji}^z| \leq 1.$$

Since $b_{ij}^z - b_{ji}^z = 1$,

$$(41) \quad 2|b_{ji}^z| = |1 - b_{ij}^z| + |b_{ji}^z| \leq 1,$$

$$(42) \quad 2|b_{ij}^z| = |1 + b_{ji}^z| + |b_{ij}^z| \leq 1.$$

Hence

$$(43) \quad |b_{ji}^z| \leq \frac{1}{2},$$

$$(44) \quad |b_{ij}^z| \leq \frac{1}{2}.$$

Therefore, there must be $b_{ij}^z = \frac{1}{2}$, $b_{ji}^z = -\frac{1}{2}$. □

THEOREM 4.3. *In the space $(X_n, \|\cdot\|_\infty)$ P_a , is not the only norm-one projection.*

PROOF. For $A = (a_{ij})_{(i,j) \in N} \in X_n$, define a projection $Q: X_n \rightarrow Y_n$, by $Q(A) = (\bar{a}_{ij})_{(i,j) \in N}$, where

$$\bar{a}_{ij} = \begin{cases} a_{ij} & \text{if } (i, j) \in M, \\ a_{ji} & \text{if } (i, j) \in N \setminus M. \end{cases}$$

It is easy to show that the operator Q is a projection of X_n onto Y_n , $\|Q\|_\infty=1$, and $Q \neq P_a$. The proof is complete. \square

References

1. Blatter J., Cheney E.W., *Minimal projections onto hyperplanes in sequence spaces*, Ann. Mat. Pura Appl., **101** (1974), 215–227.
2. Bohnenblust H.F., *Subspaces of $l_{p,n}$ -spaces*, Amer. J. Math., **63** (1941), 64–72.
3. Chalmers B.L., Lewicki G., *Symmetric spaces with maximal projections constants*, J. Funct. Anal., **200**(1) (2003), 1–22.
4. Chalmers B.L., Metcalf F.T., *The determination of minimal projections and extensions in L_1* , Trans. Amer. Math. Soc., **329** (1992), 289–305.
5. Cheney E.W., Morris P.D., *On the existence and characterization of minimal projections*, J. Reine Angew. Math., **270** (1974), 61–76.
6. Cheney E.W., Light W.A., *Approximation Theory in Tensor Product Spaces*, Lectures Notes in Math., Vol. **1169**, Springer-Verlag, Berlin, 1985.
7. Cohen H.B., Sullivan F.E., *Projections onto cycles in smooth, reflexive Banach spaces*, Pac. J. Math., **265** (1981), 235–246.
8. Fisher S.D., Morris P.D., Wulbert D.E., *Unique minimality of Fourier projections*, Trans. Amer. Math. Soc., **265** (1981), 235–246.
9. Franchetti C., *Projections onto hyperplanes in Banach spaces*, J. Approx. Theory, **38** (1983), 319–333.
10. König H., Tomczak-Jaegermann N., *Norms of minimal projections*, J. Funct. Anal., **119** (1994), 253–280.
11. Odyniec W., Lewicki G., *Minimal projections in Banach Spaces*, Lectures Notes in Math., Vol. **1449**, Springer-Verlag, Berlin, Heilderberg, New York, 1990.
12. Randriannantoanina B., *One-complemented subspaces of real sequence spaces*, Results Math., **33** (1998), 139–154.
13. Skrzypek L., *Uniqueness of minimal projections in smooth matrix spaces*, J. Approx. Theory, **107** (2000), 315–336.
14. Wojtaszczyk P., *Banach Spaces For Analysts*, Cambridge Univ. Press, 1991.

Received March 24, 2006

AGH University of Science and Technology
 Faculty of Applied Mathematics
 al. Mickiewicza 30
 30-059 Kraków, Poland
 e-mail: dmielcza@wms.mat.agh.edu.pl